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Physrcs 1308-H01 Exam #2 Fall, 2010

______ Instructlons ‘Do real good. Show your work for ail problems Partra] crecltt will be assi gned for things
. that make sense. g=0.80 m/s G =6. 67x10 H Nmzlkg -

| Short questions: (7.5 points each, dr0p the low -one) o

1. What is the cllfference between centnpetal foree and centrtfugal force‘?

-f"zc center, Ca rt-ff-/'kfz ( (%-»a s e ﬁé‘hﬁau_s forca
47 fﬁ/‘(/"*‘? “ i The ocec /e-'v"aéa‘? Ff@m & £ /‘ddle‘c«a( '

/
ﬁlcé RcCts m-r'zw&&.fés‘

2. A 4.0 kg block, initially moving at 3.0 m/s, slides a distance of 7.5 m on a flat surface before stopping.
The coefficient of sliding friction between the block and the surface is (Use Newton’s second law)

a)0.60 (@®.062 ¢)0.10 d)0.32 a -V*" "ﬁ 40 ;.75

3. An object is released from rest and allowed to fall through air, subject toa drag force whtch 1S -'
proportional to its velocity. Describe horvrr the velocrty and acceleratron of the object change as it falls.
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4 A comet on a very elliptical orbit moves much faster when it is near the sun than when rt 1S far away
from the sun. This behavior is described by -
a) Kepler’s first law (law of ellipses)
Kepler’s second law (law of equal areas)
C) Kepler’s third law (harmonic-law) |
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5. An object at the center of the earth has a wei 1ght Whlch when compared to the we1 ght it would have at

the surface, ~
a) 18 much greater b) 18 somewhat less C)1 1S somewhat greater (d’s ls zero e) is the same

6. At what dtstance from the center of the e wrll the acceleration of gravrty be 0. 80g‘? . G
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7. The centripetal force does no work on an object moving in umform circular motion. %1scuss why this—ls\
so based on the general formula for calculating work, and the work-energy theorem o
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